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01 AL EE E 2563 193,767 81,970 111,797
O=HIEXZ ALY 193,767
— 225X N 193,767,000 193,767
= 155,015
< 19,376
[ia 19,376
ol =Xsd 7,068,062 6,128,138 939,924
= 3,520,484
| 463,000
< 652,358
e ,432,220
FOHQI AtSI &0 = , 120,209 1,664,516 455,693
2 737,255
| 463,000
= 179,453
e 740,501
ZOjo ME=X ol &F 181,235 168,474 12,761
201 Yer2 2t 21,495 33,190 A 11,695
01 At 22l 21,495 31,690 A 10,195
Oger==gHl 16,595
—&Xzo ¢ 6,000& »250H 1,500
— SOOI XE EXE M 250, 0002 =44 1,000
—HHdzE 2= 500,000& 4= | 2,000
—ZMHUEXNSER 222 A
2,000& +1,0008 2,000
— 89 WA 55,0002 *25J4 1,375
—AMNREE E & s 1
700,000& 4= | 2,800
—QIRACHH MREE = 500& 2, 80004 1,400
—SASX 7Y 430,000& 4= | 1,720
— 243 AN OE ZAH ¥ EEHI HE
100, 000& 287K 2,800
o=zg=¢ 2,100
— &0 == AN oo ald A3l
=g 70,0003 x5 +63] 2,100
O= &l 2,800,000& 2,800
202 O4dl 8,640 5,184 3,456
01 = LH 4 1l 8,640 5,184 3,456
OZOMASKAIZY = P DAR-]
8,640,000& 8,640
203 PR =&l 1,000 1,000 0
03 Al =X A2 =& 1,000 1,000 0
OFOHel S XAl 1,000, 000& 1,000
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301 L2 A= 41,600 22,600 19,000
01 MEIBEZE 506z 33,000 17,000 16,000
O&oel 28I XA 7,000,000& 7,000
OHAFONO IDYBOIZ 42 X2
5,000,000& »2&H 10,000
OZOHQ AT SHMAAY S
16,000,000 16,000
09 HALAHIEA S 8,600 5,600 3,000
OXOHQ ZCHRAMAL FAX B4
30,0008 40 1,200
OEXZI2dY AL HAX B4
30,000& »40H 1,200
OXHe SLCHIAHAL AR 24
0,000& »40H 2,000
O=SZM 19HME d&8XNAS FAX B4
30,000& »40H 1,200
OFe M=t AL 2a
30,000& 100 3,000
307 21201 A 100,500 98,500 2,000
03 QI HE2IHE xR 14,000 15,000 A 1,000
OOt XA 14,000, 000& 14,000
04 DI2HHALALSE E X 23,000 0 23,000
O&oel =Xs& sl 23,000,000& 23,000
11T M3 SXASEEX 63,500 0 63,500
OAIZZ 0l StAH== 3l 3,000,000& 3,000
OAZZHe Al ®EE=3 XI& 6,000,000 6,000
OAZZO0HR Ol A RI&
1,000, 000& 1,000
OAZZ0Hel SEHiHE 2,000,000 2,000
OAZZEe ez 29 3,000,000& 3,000
OAMEo XY SAE 23 9,000,000 9,000
OCEHMAHEA 24 30,000, 000& 30,000
o¥e==g 29 5,500,000 5,500
OZoel Atz & X2 3,000,000& 3,000
OZOHQl CTAIHA ALY 1,000, 000& 1,000
405 TtHabF S| 8,000 8,000 0
01 AL EFH S 8,000 8,000 0
OZofel ®Hel 9285 ¢ 8,000,000 8,000
U ESKA 987,790 934,800 52,990
= 691,453
< 88,901
s 207,436
307 2Iztol ™ 987,790 934,800 52,990
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36,898
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7,907
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36,898
,906
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HE2 ALY 52,711
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36,898
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e
2
s
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720
720
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720
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240
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ZOHQOIE XJWH 29
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Chel: ZOHQl A& = (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OZHIExAY 75,000
—ZHIE XNJEH 29 75,000,000 75,000
= 26,250
s 48,750
FHAMEFANRAHEEL0 26,192 21,622 4,570
=) 10,477
= 15,715
307 21201 & 26,192 21,622 4,570
=) 10,477
a 16,715
02 HAHFHANGEEE 26,192 21,622 4,570
OSHEXAY 26,192
~BOHARBENTY HSTR0IAY
26,192,000 26,192
< 10,477
s 15,715
e Msgds XN 10,920 0 10,920
=) 2,460
a 8,460
307 glztol & 10,920 0 10,920
< 2,460
a 8,460
02 It HAMNAEE 10,920 0 10,920
OZHIEx A 4,920
—Z0e M=Esotel X 4,920,000 4,920
= 2,460
a 2,460
OHM HM=A XA 6,000,000 6,000
SEAER2 22 2F 206,415 0 206,415
201 LEt2A | 206,415 0 206,415
01 AtR 22l | 8,200 0 8,200
Oger==EH| 7,400
SHEY AMES F 200,000& =103l 2,000
— &0 22l 45,0003 x12& 540
—ARE AR2F 7Y 250,000& x4 3] 1,000
—MglIsE 7Y 60,0002 12& 720
- 28 =9 M 110,000 42 440
—A&d2e 428 € HS 7Y
100, 000& =122 1,200
—AlE2e ABF 7Y 375,000 42 1,500
O<fIEu =l 800
—dSAE et 22X W= 800,000& x12] 800
02 =24l 198,215 0 198,215
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SEENCEEEEE RS
28,000,000& 4= 7| 112,000
O332= & HA 77,400
- &2 5,150,000& x12& 61,800
—&ot=ER3 1,200,000& =128 14,400
—stes 100,000& x12& 1,200
OAl& &l Xl 8,815
—dojetd 2| EFH| 160,000 128 1,920
— 35I| RAES 29Y| 180,000& 128 2,160
—28AlE EIIEE E9Hl 200,000& 128 2,400
— &3t EA 29| 635,000 » 14! 635
~HAEZ A Y HABAY
1,100,000& 14 1,100
— =2 EIIFA 300,000& =14 300
— DAIA AL S A 250,000 » 14! 250
—AYOIHAL AHSBAX &bl
50,000& » 14! 50
LEHMCIIE SAXA 1,611 1,611
= 1,128
= 145
s 338
307 glz2tol & 1,611 1,611
= 1,128
< 145
s 338
05 RIZHRI &t 3 1,611 1,611
OZHIEx= At 1,611
—ZETMAINE SAXNAAS 1,611,000 1,611
= 1,128
< 145
e 338
ZHASXAEA 2LUHE ALY 4,000 4,000
< 1,600
= 2,400
301 LEtE L= 4,000 4,000
< 1,600
= 2,400
1M1IIEBESS 4,000 4,000
SHEXZAMY 4,000
— A =EXNAMEIA 2LEHE A
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[ia 2,400
ST SEAMIIEXNS 22 SH= 463,000 463,000
| 463,000
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s 279,993
OEHIEXZAY 7,300
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= 3,650
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Zoiel SXAE SALAL L Mext X 88,400 83,933 4,467
< 44,200
s 44,200
307 21201 A 88,400 83,933 4,467
< 44,200
[ia 44,200
10 ALSISXAIEEE2IHEX 88,400 83,933 4,467
OEHIEXZAY 88,400
—Z0 SXAME SAML =
88,400,000 88,400
< 44,200
s 44,200
ORI P DAY 3,355 3,651 296
2 2,684
s 671
301 et d=s 3,355 3,651 A 296
= 2,684
s 671
01 MEI2EZE %6z 3,355 3,651 A 296
OIHIE= At 3,355
— I ERI P URAY 3,355,000& 3,355
= 2,684
s 671
ool EXJ|F WREAY F BHYALXE 11,856 10,754 1,102
< 3,428
s 8,428
301 et Az 11,856 10,754 1,102
< 3,428
s 8,428
01 Ml2ZE 6= 11,856 10,754 1,102
SHIEX AL 6,856
— e MEBEXIIF % BHIAANEZXE
6,856,000 6,856
< 3,428
[ 3,428
ZOe HEEZIRA(AAH) 5,000,000& 5,000
Zopel HOQALXNRALAEH 2D KA 50,000 45,000 5,000
= 15,000
s 35,000
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< 15,000
e 35,000
11 AISISAAISEE = 50,000 0 50,000
OZHIEx= AL 50,000
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50,000,000 50,000
< 15,000
s 35,000
ZOoHe &t = XNJMEH HE 300,000 0 300,000
405 TtabF S| 300,000 0 300,000
01 AL EFH S 300,000 0 300,000
ZOoHe gu = XNJAMEH 22
300,000,000& 300,000
ZOHQl MEory X& 3,040,968 2,840,023 200,945
= 1,996,563
< 276,828
[ 767,577
SHE ZOHQI=C DHEALY 30,400 34,200 A 3,800
= 15,200
< 4,560
i 10,640
402 RIZEX20l ™ 30,400 34,200 A 3,800
= 15,200
< 4,560
e 10,640
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< 3,000
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FoelAs 2,018,080 1,904,528 113,552
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iy 423,797
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= 134,389
= 57,595
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= 134,389
= 57,595
01 Al B & A 462 191,984 155,459 36,525
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= 134,389
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= 11,880
= 27,720
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Jl234l 42,010 27,400 14,610

Jl2Z&dl 42,010 27,400 14,610

201 LB-2d| 17,830 11,200 6,630

01 At 22l 17,830 11,200 6,630
Oger==EH| 17,830,000 17,830

202 oddl 19,800 12,000 7,800

01 2LHOIHI 19,800 12,000 7,800

fA2I(AIH, AOIL, F3E &4 5)
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203 PR =&l 4,380 4,200 180

04 2ASY R =T 4,380 4,200 180
ORAN2EIRFEHI 4,380,000 4,380
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